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HOME SCIENCE
PAPER - III
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: This 'paper contains Seventy Five (75) multiple-choice/Assertion and
Reasoning/matching questions/carrying TWO (2) marks. Attempt All the

questions.

ol Wl dAAR (9w) eiglseld Madl, WA A ASs el wsdl
B, M Wil ol aviairl 8. XAs x4 () am 8.

The vitamin which is synthesized
in the bedy by micro-organisms and

present. only in animal food ..... .
(A) Vitamin A

(B) Vitémin C

(C) Vitamin B,

(D) Vitamin Bys

Which of the following statements

is not true for vitamin A ?
(A) It is required for skin
(B) It is required for vision

(C) It is not required for body

growth

(D) It is required for immunity
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(A) QM-

B) RaB-
(C) [Q2ailit ofl-3
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3. Match the following :
Parameter
(@) Trans fatty acid
(&) Acid value
() Peroxide value
(d) Iodine value
- Units
(@) meq oxygen'IIOO g sample
(i} g iodine/100 g sample
(iif) Percentage
(fv) mg kOH/g of sample
Codes :
@) ) @ @
A @ @) @) G
(B) .(iii) i) @ G
(C) @) D) (Guv) @)

D) GiD) Gv) @) @)
Home Science-I1T

MSs AS| :

Y13ler

(@) 21 2l AH[Rus

(b) AAls dey
(©) WRAASS dey
(d) SndISl Aey
y(s2

() meq 2UsALY100 WwH Axud
Gi) UM BULISIH100 Ut Aryy
(iii) 25t
(i) 1ﬂ_.aau v/ Axe
1S

(@ ) () ()
(A) () @) @i (o)
(B) Gif) Gy @) @)
(C) () Gi) (v) @

(D) i) (v) @) @)



The normal body weight gain

during pregnancy is ............oceue and
thatof ..o kg 1s due to fat
deposition.

(A) 14-16 kg; 4.0
(B) 10-12 kg; 4.0
(C) 6-8 kg; 8.0
(D) 8-10 kg; 8.0

The vitamin which is required for
bone development and can be

synthesized in the body .......... .
(A) Vitamin A
(B) Vitamin C
(C) Vitamin K
() Vitamin D

The calcium requirement for

pregnant women is ............... .
(A) 1.0 g/day
(B) 0.5 g/day
(C) 1.5 g/day

(D) 1.2 g/day
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4.

Aorediaal et wHImy ld
AL aoMl ... qULRL
iy 9, puidl ... (5.1 uzell

oML WAl S129 Ay 9.
(A) 14-16 [3.uL; 4.0

(B) 10-12 (3.30; 4.0

(C) 6-8 [3.21: 8.0

(D) 8-10 [%.21; 8.0

Tazfla’ 3 % gissiei (s Hie #3131
8 A d wLRU siae WA §

oooooooo

(A) {a2fin-»
B) [@alB-4l
() [Ral-3
D [QafH-9l

] il Fedllun-dl w3lruld

(A) 1.0 afsaxn
(B) 0.5 ux/Asax
(C) 1.5 wx/zax

M) 1.2 arfeax
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The antioxidants present in the

foods are ........ccovvevnne :
(1) Vitamin E

(ii} Flavonoids

(iti) Vitamin D

(iv) Phenolic acids
Codes :

(A) (v), (i) and (D)
(B} (), (zi) and (v}

(C) GiD), (fv) and (i)
(D) (D), (i) and Gi)

The starch provides the following
functional properties in food

preparations ...................... .

(A) gel formation, viscosity and

denaturation

(B) denaturation, coagulation and

gel formation

(C) thickening, viscosity, and gel

formation

(D) thickening, viscosity and

denaturation
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7.

8.

USR] 28d A-duisHlsw2

@ Qe ©

(i) SAAES

@iy [Qep{t+ 8l

(iv) sl-ilas Adls

IS

(A) Go), (i) A G

(B) (@), (i) ¥4 @)

(C) (D), (iv) M (D)

(D) (@ii), () A Gi)
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e
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10.

11.

Bifido bacteria are :

(A) Probiotic and anaerobic

(B) Non-probiotic and anaerobic
(C) Non-probiotic and aearobic

(D) Probiotic and aearobic

Which of the following is nof a liver  1(.

function test ?

serum albumin test

(A)

(B) serum globulin test

(C) serum total protein test

{D) serum total amino acid test

Which of the following vitamins has  11.

a relation with energy intake ?
(A) Thiamin

(B) Vitamin D

(C) Vitamin E

(D) Vitamin C
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ofl5lsl Aseul :
(A) MioUULEls 247 Bl ells wiu 69

A—HoHUEls 2 A1
Sl 89

(B)

(C) AlA—onddls A vells el

-

9

(D) Mioudldls »ia vRiells eiu 8

AA-ielh 54l 222 lar (usdt) $sun

ex Al ... :

(A) dlR¥ 2aoyHid e

(B) Aln caioydl 2

(€) M Zied WA 22

(D) Al 2iea AL Adls e

Qe sul Qepfladl deis wq

(Ar2d) Al W Wl 37
(A) A

(B) [@ar{l sl

(©) Rala o

D) [@QaHl4 Al
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12.

13.

Which of the following has the

highest provitamin A activity ?
(A) o-carotene

(B) Bixin

(C) B-carol‘:ene

(D) Lycopene

The carbohydrate defined as

“Prebiotic” when it is ............... .
(A) degraded in upper GI tract

(B} not degraded in upper and

lower GI tract

(C) not.degraded in upper GI tract

but degraded in lower GI tract

(D) degraded fully in small

intestine
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12.

13.

Al Ayl sl wifaedlw ¥

AsAAE) il agy 37
(A) wlles1-53120A

(B) ollafl-

(C) B34

(D) casill
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Ay 9, s d ...l .
(A) BUAL WAAdAH] WA Wl &

(B) GuaAl s+ Al wWAAdAHL
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14. The following changes are taking  14. 334 seaai-dl wBaiul A

place during germination process of 335012 Al WA B ... _

green gram covvvicieiaiiecine . . .
@) [@Qeidlq ‘ol Ml asut

(i) increase in -vitamin C '
Gy [l 97 Hi aurl
(i) increase in vitamin A
i) sl uaist
(iif) decrease in viscosity

Gv) QUSRI asrl
(iv) increase in viscosity

‘ 51S :
Codes :

(A) (1) and (v) (A) () ¥ (iv)

(B) (i) and (id) - (B) (i) A (i1)
(C) () and (i) (C) () @A (iid)
(D) (ii) and (iv) @) Gi) ¥ ()

'15. Soft diet is used .....ccovereernnnnn . 15. “zﬁsa—su.la” s qua?
(A) after full-liquid diet A) sd-dlsdfls side ugl
(B) after clear-liquid diet B) sellrnz—dlsdlls sz ug
(C) before full-liquid dieﬁ ©) ga-dlsclls siq2 udal
(D) before clear-liquid diet D) sdloz—-dlsdls side el

Home Science-1I1 9 [P.T.0.]



16.

17.

18.

From the following, the best
source of protein for renal failure

patient ............... .

(A) milk 4 cereal + legume

“(B) cereal + legume

(C) milk + cereal
(D) milk + legume

In gout, the serum level of ............
is increased and it is the end

product of ............ e .

(A} wuric acid, purine

(B} uric acid, pyrimidine

(C)

urea, protein

(D)

urea, purine
The full form of “FSSAI” is ........ .

(A) Food Safety and Science

Association of India

{(B) Food Science and Standard
Authority of India

(C) Food Safety and Standard

Association of India

(D)) Food Safety and Standard
Authority of India

Home Science-I11

17.
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16.

18.

QAniell A 35’ (sl
20 o el M2 M M Wl
By awirdl @A 97

(A) &4 + 7Y + 5810

(B) Hlvd + 56101

C{(0) 4 + 4y

D) g4 + 89

“onBe’’ wi, Alrwmi
YHISL 48 B, A A
Yelal €.

(A y3s AAAls, Wil

B) yls s, wuIuasgii
(©) ydul, wid

(D) ylul, Wizl

s (FSSAD 4 4 M

.............

(A) §S5 A2l 2 AU AARAUA
»lis S-glul

(B) £S5 AWy A w158 U4
is Srolul

(C) &S 48l A 2elrs$ HARAun
2y S-Slul

D) §5 A& 3 21-5$ AR »iis
Srelul



19. Asseftion (A) :

Reason (R) :

Codes :

A clean and safe
food
facility 1s basic to

service

achieving a
successful func-
tioning and it is
strategic to
health and well-
being of both
employees and

customers.

Sanitation and
safe food services
are closely
related
environmental
factors to be
considered while
planning the
layout
physical facilities
of food service

units.

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are false
(C) (A) is partially correct but (R)

is correct

_(D) (A) is correct but (R) is not

correct explanation

Home Science-111
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19. S4- (A) :

S13R (R) :

£1S

(A) (A) A (R) oinl A1l ©

25 wsn s1d2d
TR EETEE)
Als A Saldd
u“lteﬂrﬂ
AdASLAL ULl

w19l

3Uld €
AlLLS A
swALTaeAl
dgedl WA

wastdl w2 w33l

-,

69
w el el
RN dd

BUA 2
AAn9dSdLHL
ol uulazad
adldi uRedl A8

Asuddl 6.

-

(B) (A) A (R) oA vilel &

(@) (A) w8 2 R) W &

D) (A) WY & wal (R) 4 $138 0

2l
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20.

21

The homopoly saccharides which is

present in oats is :
(A) cellulose

(B) hemicellulose
(C) B-glucans

(D) pectin

It is important to understand the

“values” of a professional, while

making staff selection for a social

development program because :

(A) They affect program planning

skills

(B) They impact attitudes and
relationships with stake

holders
(C) They are mandated by law

(D) They contribute to financial

costs

Home Science-IT1
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20.

21.

szl el 1ed eivividladzdsy

(A) eyl

(B) SMl-Aeyei
(©) pogd-

(D) fl&_élvt
A Ws QaAiBs Y AL W2
gl Aulys Qs sidsy e es+)

waeaAl sl W Hecysl & ¢

(A) axii sidsy syl Sisey Gul

U YU B

(B) dull adgl o Rl gl 1A

AGLEL U T 4 B
(C) a>ll $1uel g1l sBrad 8

D) Al u-lBx vl 42 5109 )



22. What is the usual sequence followed

23.

(A) Entrance

in empldyee selection cycle 7

test, personal

interview; selection and

orientation

(B) Personal interview, appraisal,

and exit interview

(C) Group discussion and group

appraisal

(D) Competency assessment only

An Indian law that protects the

- rights of the elderly for their care

and well-being is titled :
(A) Old Persons and Parents Acf

(B) The HelpAge Act

(C) The National Senior Citizen’s

Act

(D)
Parents and Senior Citizens

Act -

" Home Science-IT1

Mainﬁenance and Welfare of

13

22, WMl 5] ieoll A5 iU UM

23.

54 9 87

(A) e udlan, lbdod Sexdy,

WRigofl 2w wi[RAR A

(B) AUBdod ey, Heuisd A

NPze Herey
(©) U AAL v AHS HEUlsA
D) 55c alctsdid, yeuis

“gedludt A (eurdla suel) 3 %
qgirl 512 2 wyedirl s U
&7

(A) 9al A Aldt-{udl sl

B) &y n MAse (s1uel)

(C) e %ﬁrﬂqz Adosn Ase

D) -l 5199 i Wadl

A a{l?{lqa %ﬂéb‘:“l 52
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24.

25.
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Erik Erikson is best known for his

theory of :

(A) Personality development

(Bj Epigenesis in human
development

(C). Cognitive development

(D) Egocentrism

During middle childhood, the

child ................... .

(A) spends most of the time

thinking about self

(B) learns to identify alphabets and

numbers

(C) wants to stay indoor most of

the time

(D) acquires the fundamental skills

of learning

24.

25.

14

s SAAsa v Wl AR He

2A2(dl é :

(A) uziﬁl[iiél Saciyure

(B) Qﬁl@&%ﬂ%{ Sl &M Badiviez
(© S9da dadivii-z

(D) SoudZloau

HEY OARYL BWUA, sllUSs ..., .

C(A) Uidldi MR o R syt Hiel

ML HHY AN B

(B) & A Rl LA, v
£

(C) el oudl qui o el Suol

q1d £

(D) llviar el vl Fysd
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26. The largest early childhood care

27.

28.

(B)

and education programme in India
is called ............ e |
{A) ICDS

(B) UNICEF

(C) SSA

D) ICCW

Ifa S(;hool-child is identified to have
dyslexia, it means he/she ........... .
(A) cannot walk without sdpport
has poor eyesight

(C) cann;)t read and write at his/
' her age level

(D) has intellectual disability

Care of children in an institution
is described for at-risk children such

AS eerreereereiriinennneraees o
(A) Small babies
(B) Children living on the street

(C) Those growing ui) with a single

parent

(D) School dropouts

Home Science-I11
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26. o4[3d™i Al M2l cunAe i

27.

28.

fe silsn 04 8 d sul 97
(A) U8 Al sl A

(B) Y[ As

(©) ¥y 2 ¥

R Al ol soey

o, OB, %l euasHl ‘Sl
(L slld) Aal MA a-il =g A 3
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(A) a1y Raw 20dl 4 ak
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(@) Gu MHISL @vll v aldl asd
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D) oillgs A HAAH sl 8

LAzl 565 33U A5 ML

i sl Adl w3Ruld 97

(A) Al eLasl
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©) % s el A W Geval i
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29.

30.

Which of the following is not seen

as a feature of an inclusive

education programme ?

(A) Expecting uniformity and

conformity from children

(B) Using multiple teaching

methods

(C) Making adjustments in the

learning environment

(D) Recognising children’s abilities

-One of the most natural ways in

- which children learn social roles is

by ....

(A) Attending school

.(B) Obeying théfr parents
(C) Watching cartoon films

D). Playing with peers

Home Science-II1

29.

30.
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- (B)
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31. Adolescents in all cultures do not

go through the ‘crisis of identity’
that Erikson theorized about

because :

(A) All adolescents do not have a

growth spurt

~ (B) All cultufe_s do not allow mixing

of boys and girls

(C) The sense of identity is a
socially constructed

phenomenon

(D) Some cultures have early

marriage

32. A person’s personality can be

assessed using ..................... .
(A) An intelligence test
B) A projectivle test

(C) A blood test

(D) An aptitude test

Home Science-I11
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31.

32.

£35 YL (Butzawl sl ilg
USESEE Hiell uAA A Wy d-d

w2 aRlsuddl Du w e 87

(A) £35 Bair/Gailaisl sia e

(Rs) 4 didl
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(A) Sredln-e ééa

(B) uIFsdla 222

(C) 6US 22

(D) ALEleYs e
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33. The Act that prohibits finding out

34.

35.

Home Science-TI1

the sex of the child in the mother’s

womb is called .....eeveeveriricriennn, .

- (A) PPMT Act

(B) Female Foeticide Prevention

Act
(C) PNDT Act
(D) Sex determination Act
A fertilized egg is called a ......... .
(A) Foetus -
(B) Ovum
(C) Sperm

(D) Zygote

Which model of intelligence is

associated with Robert Sternberg ?

(A) Structure of Intellect Model

(B) Triarchic Model
(C) Two-factor Model

D) Multiple Intelligence Model

18

33.

34.

35.

sl (Ase) 3 ¥ aelaan e

ol ARl A 13 kY
(A) Ll A3 &l s

(B) slie 5198201858 Hldrad wise

(@) VL i €l A Ase
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(B) gy
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(D) Hyd2
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Riod ool il dey g4 87

(A) RsUR s $2dse Hisa
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36. In India, the populétion of aging

37.

adults is increasing due to ... .
(A) More efficient census practices
(B) Increase in old age homes

(C) Better nutrition and health

care
(D)} Improved sex-ratio
Sex-ratio is defined as ................. .

(A) Number of females per 1000

males

(B) Number of males per 1000

females

(C) Number of females per 100
males
(D) Number of males per 100

females

Home Science-I1T |
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36.

37.

Mzl yed qei-fl axdl audl 2y

9, SRR T ... .

(A) axdl 3l il guigawmwﬂ ALY,
€9 .

B) qet A a2 i B

(©) Wl oY 510 WA UL

T

(D) Ala—e2 YR

%[?L-*E,Qrﬂ UYL L

(A) £ 1000 gpﬁz& Al
vl |

B) 62 1000 wil»lizl w3l
Ay

(©) &3 100' ysist el
A,

D) &2 100 l2ix Yyl

Avy)

[P.T.0.]



38.

39.

In order to study social interaction
patterns among preschool children
in their ECE centre, the suitable

method would be .......ocoevvinnnnnl .

(A) To interview them

~ (B) To interview their teacher

(C) To make systematic obser-

vation
(D) To use sociometry

If a school-going child, who has
been performing well, suddenly
begins to show poor grades,
the reason can be found out by

using ...........

(A) An intelligence test
(B} An aptitude test
(C) Sociometry

(D) A projective test

Home Science-I1T
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38.

39.

‘§ Al S I |l woud ¥t usdidi
ol siHl Al S sud Lol

YR HLe Aoy ugly il ... ... i
(A) Al S-ezey dq

(B) dxiidi [uasid Sweeey g

(C) waldur vadisd 539

(D) ARNALA GualaL 52l

ULOU, %] BHAS, § F Bl ALY ACUIY
usdld $3 &, Haylrs del dedHul
“asl adid 93wy B, 2 k@
stlaat 12 fA-uniell suu 22l Gudial

s wusu?

(A) Sredlyy 232

(B) Mdeys 2

(C) ARAUINZ

(D) WHsdla 2



40. Thematic Apperception Test is  40. 1N s AMAWAA 22277 L .@1{1{10[:

4]1.

USEA covvvevvrcreiriiieereranns .

(A) For adolescents and adults

(B) Only for adolescents

(C) Only for adults

(D} Only for children

To ensure that the child (8 yr.) is’

comfortable when being
administered a psychological

test .oovieneni. .

(A) He/she should be tested at

home

(B)

present

(C) Examiner sho_uld form rapport

~ and relax the child

(D) Examiner should offer a

chocolate to the child

Home Science-ITI
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41.

(A) [Batiaa 2iA Yod 9y Hi2 4l

8
(B) &5d [(3allaral HI2 Ald 9
(C) 85d Yvddd Hi2 UMY &
(D) $5d SUOASL M2 dd ©

s adHl oy Gy wuLR

Ausicdlsa 22 (idsus 2:e)

sl 2 AU A A g 9

Al wsll Hie ...l :

(A) Gllasi 83 222 Al A

B) 22 sdl auid dell Hidl &%

Gl RS

(C) 222 s+ ol ALY A6l
Toddl ASA A oLnsH

Al sd sl B

(D) 222 53703 ouoisA Aisaz 2nudl

ASA

. [PTO)



42. Most minute and detailed data on  42. dld Srexolsudl Asiaeeidl A

social interactions can be collected | Glsteti Sl sl sl 2 (A-uxial |
psing ............................. . | AL Guulel sl ASA?

(A) Observation schedules (A).%ﬁf’{:}‘;é‘[%m sllsyy

(B) Photography - (B) 3‘.18‘.\{9—[[51.

(C) Narrativeé | (C) A3y

(b) Videography | (D) disluiaus)

43. Which of the following isfare 43 Aol sur aisAlsuSAlor Moz

oxidising agents ? | €9?_

@ Hydmggn peroxide | (A) slgiy ﬁﬁama?'s
(B). sodiun{ hy'poghlorite (B) ASUH srudisdilse
(C) Potassium Permagnet (€) el yi-one
(D) Sodium Perborate | (D) AfByu 1&"&@\3
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44. Match the preparatory process for  44. Yd21G a(l wiZlos ulBaiziia

cotton fibre of Group I with chemical

used from Group 11 :

(@)

(b)

(¢}

(d)

(D)

(2)

(3)

(4)

Group 1
Desizing
Scouring |
Bleaching
Souring

Group 11
HCl |
Enzyme
NayCOq

NaClOy

Codes :

@ & © @

A @ @ @ @

B @ D @ G

@ @ @ QO

O 1 @B @ @D
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Al 4 i suldd NS duRicd 20380

yal 2 Wi suldar ad s

(a)

(b)

(c)

(d)

(L

(2)

(3)

4)

(A)
(B)
(&)

(I

Al 1
él%_tuSB*}ai
51632
[et2({oL
wBiaL

| zﬂl R
23y 3l Ve

el SH

N32C03

NaClO,

: _EsxlS :

@ ® © @
@ @ @ @
@ O @ @
@ @ @ O
» @ @ @

[P.T.O.]



45.

46.

47.

Home Science-ITL

Regression includes :

(A) Goal substitution
(B) Close eyes to reality

(C) Individual returns to earlier

habits
(D) Physical insulation

Gaberﬂine, damask and flannel are

made from ............... s
(A) Wool
(B) Viscose Rayon

(C) Cotton .

(D) Flax

Ikat fabrics are :

(A) Yam. resist

(B) Fabr_ic resist,

" (C) Spot resist

(D) All of the above

45,

46,

47.

24

A2UAAHL WAL 2L S ..., .

(A) ld AsRI2Y U

(B) ardlasdidl Aw2iely s

(C) uddidl ted ds Alhd uws
$3 89
(D) eillds Sy

A6lsld, SHILS A sdAA vl

oiricly ¢97

(A) 94

(B) lasiy i

(C) i:;cmé

(D) saa

§55d 5US M s 7
@) wel ke

B) 355 e

(C) iz e

(D) Gu-l olaley



48. Besides India, major cotton exporty  48.

49.

50.

country countries is/are :
(A) China

(B) USA

(C) CIS Countries

(D) In the order given

‘S’ and ‘7’ are : 49,

(A) Classification of yarns
(B) Types of plies
(C) Warp and weft yarns

(D) Directions of twist

The finish that inhibits the growth  50.

of bacteria and fungi.

(A) Antistatic

(B) Antiseptic

(C) Moth proof

(D) Crease resistant
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olzd Raw ol s yuu tufza

a8ydl Al Fisia 53 87
@A) A+

(B) 4.2,

© q 20 sa gl

(D) UYL $HL5 Yoo

e A B’ A ;

(A) arld aoflsaw

- (B) redu-l uslz

(C) it 27 et i
@) edlre-ll Raw

Bella 3 ¥ aselRul au goul [as

»esld 8 ...l .
(A) AA25

(B) -dlAvéls

(C) WA Ys

@) Ao (sad) Wllue-
[PT.0)



ol

52.

83.

Home Science-II1

Knit-de-knit is a method for : 5L

(A} Knitting
(B) Yarn production
(C) Yarn texturising

(D) Web formation process

Holo fibre used for bedding products 52,

that responds to following étimuli
is :

(A) Odour

(B) Moisture

(C) Body

(D) Safety

Density of a cotton fibre is 53

approximately :
(A) 1.52 denier
(B) 1.52 gftex

(C) 1.52 kg/m®

(D) 1.52 g/em?

26

fle—sl-le | 1A caldduiall 12l

........

(A) St

(B) dld@l Govien

(C) dtsti 281580t
D) vl eiriaal-l ukul

AA-midl 5§ dder eldl s

oddl Asla wissed uRrue 0

87

(A) Wi
(B) &%
(C) wil3s

(D) Adlndl

C QARG Rl SA wa? ... ... .

A4) 1.52 sl-luz
(B) 1.52 g/tex
(©) 1.52 kg/m®

(D) 1.52 g/em3



'54. Which of the follewing is not a style

B55.

56.

of printing ?
(A) Direct
(B) Resist
(C) Block
(D) Discharge

According to ASTM, there are ..........
seam classes and ........c....... stitch

classes.
(A) 4, 4

B) 2, 4

(©) 4, 2

D) 3,2

Draped garments made from woven  56.
cloth which is never cut and seldom

~ sewn originated in :

(A) Mediterranean culture
(B) Neolithic culture
(C) Paleolithic culture

(D) Western culture

Home Science-II1
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. ASTM M8l

C A3 ealdendial sS Qdladl @de

27
(A) Suse

(B) wie

- (C) edis

(D) Sz

DRI CTE TR 2

........ st adf.
(A) 4, 4
®) 2,4
(C) 4, 2
D) 3, 2

auizsiH s1usHil etridal 1 A,

% smdd ddldl <l AR sedly

gflaict 3yaeid
(A) ASRAluA dld
B) l2iadls gl

(©) Adeiddls AR

(D) Et%a-{ Asla
[P.T.0.]



57.

b8.

59.

The grasp or reach envelop is
determined by the sweep radius of

the :

(A) Palm
(B) Wrist
(C) Arm
(D) Leg

Things which are forced to be used
either by social customs or due to

surroundings are called .............. .
(A) Conventional necessaries

(B) Necessaries of life

(C) Comforts

(D) Neéessaries of efﬁciency

The type of colour harmony that is
achieved by using tints and shades

of .a single colour.
(A) Monochromatic
(B) Solo chromatic
(C) Single chromatic

(D) Basic chromatic

Home Science-111
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58.

59.

57. ALY Yl ™ SAdiy sul 2By

Gyz [Mulld iy ©?

(A) sl

(B) 5iSL

(C) 81y

(D) WA

% dagaii-l $220u1d auriel wilrs
(Rl 21 e atedl siegaiene oo
Uy ¥ dsl g sdeu?

(A) WZuRlald 33luidl

(B) wad-l ¥3Rutdl

(©) 2w 2l w3Ruid)

D) eyl w3Ruidl

W5 AL U5 A 921 (shade) -l
Guulal 530 srlaami siddl 3ot
(542 wisiefl) .......... .

(A) HisiRds

(B) al s1Ads
(©) Aflae s1Nds
(b) QRAlls #1845



60. Satisfaction derived from real 60.

61.

62.

Home Science-I11

income i1s known as :
(A) Family income
(B) Money income
(C) Individual income

(D) Psychic income

An eco-friendly feature in a house g1,

to collect natural water is :
(A) Air vent

(B) Rain water harvest pit
(C) Sewerage pipeline

(D) Ground water seal

An important segment that can be  gg

involved in Extension Education

18 rrrreeineee .

(A) Private companies
(B) Volunteers

(C) School children

(D) International agencies

29

¥ aidlas sias (laa SHs)
Acdid 1A dn g ssaw?

(A) 5[0 2uas

(B) il s

(©) a{[%ctatci s

@) s uas

gMl vulast psadl Wil gedl
yiell @39 sl dd

(A) 2z are (s a-e)

(B) adl wel qerl e sl

(C) 222 WY dLd

@) i well e (uses dizz
)

a2l e e launidl sy g
Heedd 87

(A) wHdz su-l

(B) ald-dud

_(C)I e AlegA

D) AHidlzu A=

{P.T.0.]



63.

64.

(D)

Extension education can be
described as ... S .
(A) Extending knowledge to those

who are deprived of it

(B) Education of the rural folk

(C) Extending education to women

only

(D)} Reading out to less known

Home Science institutions

One of the goals of Extension
Education in Home Science is

| {4 S .

(A) Prepare skilled housewives

(B) Help a&omen compete with men

in work

(C) Provide self-employment

opportunities for women

Help women in distress

Home Science-I11
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[Raze Gasdl vy
(A) Bt dlsiHi atistll [ sl
(B) Mol ogud (B iug

(©) s5d w{liw [Dgeei R
szcﬁ

D) el el opelQati draiing
welag

e [AstiAni [azdrel Ree =is

By

(A) les dplell orriadi-l

(B) sl Y™ AuHs8 oi-uaar (A

Hes s34l

(C) wAl2iA 2a—AoouHl dst y

ylsd]

- (D) WllBl didysd saMi Hee

s3]



65. The counselling process should help 65 s1G-ddlol widy (vl )

the individual becor%le ......... . ' CLl‘[%d':l ....... -

(A) Autonomous | (A) A ol B
(B) Self-directed | - (B) ACE—slu se oud &
(C) Self-reliant | (C) As—Ralu-2 wil &
(D) All of the above . (D) Gual o4y WA

66. Which of the following is not a good g (imiaed]l wairl sliot delael M

practice for enhancing “Learning to . -
| il 59 ML de Ael?

Learn” ?

(A) Aaldad WFseu Heledd ssun
(A) Doing individual projects
CECI
under guidance

~ (B) Thematic ~ classroom (B) [mald adlvisHi 2l

discussions - . - -
(€) 554 YAd s3dl Auglaiini

(C) Using prescribed textbooks R .
o ' GuadL sl

only

o D) uBY 8les el otdl
(D) Active field based experiences .
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67.

68.

In an interactive teaching method

67.

a teacher makes an attempt ...... .

(A)

to involve maximum number of

learners in the process

(B) make more PowerPoint slides

(C) Keeps talking continuously

(D) Remian quiet

Which of these is not a componeﬂt

of the need assessment process ?

(A) Deciding what you want to

know

(B) Knowing how best and where

to get the information from

(C) Meeting the government

official allocating funds

(D) How will you record and

analyse the information

Home Science-II1
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Sv23lBea (mlam vglami »is [Bles

UUA 53 D ...... :

(A) a4l ay (Qenelaiqdl wBaimi
?t‘-[ﬁ&l s34t

(B) 441 w4z wde ;LcmS_s wcﬂ

(C) @dldly aldld s34l

D) Wld wWq

s BAUAreH]l UEBYIAL B2 sl HHda
Y] :
(A) 55 oets13] (] sl A4 (Fefy,

Adl

(B) syl A 5| s Aadl amestl

Wtd Yy
oSl A2 51%0

(C) Flad-LR

ESL Yausia sdl

D) Higdld € ANa«dl ia qal

[asdum 5330



69. When one uses interactive games to

70.

71.

(D)

enhance the proce-Ss of learning it,

should_ chus on :
(A) Long and elaborate discussions

(B) Facilitating a summary and

some conclusions

(C) Encouraging controversy

- (D) Video recording

A standard research report is not

expected to presént :
(A) An executive summary
(B) Appendices

(C) Meth.odology

(D) Cost of research

Correlation studies are best to

understand :

(A) Cause effect relationships

(B) To what extent two variables

are related

(C)
statistically different

Selection of a control group

Home Science-II1
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69.

70.

71.

Bruardl  uBwsi 2wl Bu
nFuidl udidl Guuiat dani 2ud

d e sl Big R 20 3Rd 539
B 57

(A) aioll dal ARAR 23l |

(B) wRiy WA ASL ARl steall

ylases wEw
(C) Ratelh Miculs 2Atug
@) [alkul 258

wuieed dulaq wdqiani 59
dagati-l 2ogvila-dl »ihal Ayl

(A) A Q[Emg,[éq AR
(B) uRRBrel (Au-Cla)
© wel AAsidiw)

(D) Al (BHd

Al il siRAud 0Byl

Guyidl A Gax amy?

(A) 5128 A 242 deifda el
e

B) ¥edl ¢e Yl & dl AeilAd

(©) ¥ 4 & ol nissuEu Ad xadL
8

D) RaBla ol wigsll
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72.

73.

A good experimental design

_ involves :

(A) Eliminating possible confounds

that result in alternative

explanations.

(B) Manipulating the independent
variable

(©) Conducting. research in
.artiﬁcial settings

D) Reducing the effect of

uncontrolled variable

In order to obtain reliable research

findings you need to minimize ..........

and maximize .......... .
(A) cost—result

(B) reliability—validity
(C) operational definition—

confounding variable

(D) bias—objectivity
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(D)

ALY Hayti-ed SlAsSHHl gid
0

(A) dslzus wleny »iual sy
WA siél Aivig
(B) Snslursord ATIRAGEM] 955915

ETEI
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539
AABIA wloadl A 2l

53]

Al Reamus UECTERUEET

U2 dHI? Hatsg—da1g 43 o

..........

(A) Bya—ulReun
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(©) z{migma YWY | — 5451559
A FAnY
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74. When the researcher mentions the

75.

real name of subjects in the report,
while sharing results, is assumed to

have :
(A) Not taken informal consent
(B) Used deception

(C) Violated the principle of

confidentiality
(D) Inappropriate generalisation

A reasoning where we start
with particular statements and
conclude with a universal statement

is called :

(A) Deductive reasoning
(B) Inductive reasoning
(C) Abnormal reasoning

(D) Transcendental reasoning

Home Science-1I1

74. oq1Y dasal AR salxliql

i -um wdlsuy saladl aud suld,

aodid & 5 ......... i

(A) Saidy sz dlfid Al

(B) sdlai €9dral

(0 Ydctinil Rl ol sl

75.
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(D) ulauHl eRier dl

25 Raz wEw ¥ Qe Qaiqsl
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ROUGH WORK
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